EXERCISE 9 — Test Your Algebra Skills

SIMPLIFY

16) 2% (c—8) -5 (4=3%) = |

1) Tp+3p-2p =

17) (3x=3) (x=4) =

2) -Tpwlp = |

18) (5x=3)(5x+3) =

3 x-Sy-8x+y =

FACTORISE

4 Gx+iP 23 =

119 6x-18 =

20) xP+8&x =

5) L 6x—12 =

wé)‘ 2}7><7q=‘

|21)  2xa+2xb =

7)  3axbx6c =

22) 2a*b-6ab =

8  Smx-6px4 =

23) ax+6)+bx+e) =

9 Ix+dx =

24) xP+&x+12 =

10) &xy =6y =

 SUBSTITUTE - a=4, b =-3, c=10 into .. |

1 2a°b +6ab =

125 b+c-8=

12) xx+3) =

13) -7a(b-2a) =

14) % (6a +8b) =

135) 5 +3)— 4~(x——4) =

. 30) - a.bc_(a.g.b_%_c) —=

| Bxercise 9 . — Answers
1.8 ' 2-5p  3.-6x—4y 4.8x+8x
5.6x-12  6.14pgq  7.18a2bc  8.-120mp

. . dx a 2.
9.3 10. /3 1L.3 12.%°43x
13. 7ab+144> 14, 3a+4b 15. %431

16. 227020 17.3-17%+20 18.25%°9

119.6(63) 20, 2x(xtd) . 21 2%(ath)
22.28b{(2-3)  23.(atb)(x+6) 24. (X+2)(x+6)

12541 26.5 27.94

|128.115 29.-35 30.-131




EXERCISE 8 — Simplifv & Substitution into Formula

Simplify the following expressions:

Sp-3p+2p =
8x—5x—2x
50+3b+6a-4b =
Zy-3y+8y-y =
4a+3b =

=7p+ip =

<) _6d-d =

() Sk+3n-2k-7n
() 3¢-8h-Th+2 =
G) 6x+5F +ox+ 30 =
&) ab- 50"+ ba + 30
D) 6x-5x"-2x-3x" =

2.

(c) Vi=h+10b

Fa=-4,56=3&h=6
find: |
(@) A=bxh

=( )x( )

() 4 =% b |
=% x( )x( )

=( )+10%( )

@ V=Fxh
=( Y¥x()

(m) 2ab—-ab’—ba+b a= =

(n) 2px7q = :

(©) 3axbxéc = (e) A=%[a+D]xh

) -8xIp = =7x[( )+ )Ix( )

(@ -2x-6b = N

(1) Smx-bp x4 = () F=5da+3b-4k |

(5) Ix x-6x x4 = =5x{ )*¥3x( )-4x( )

Y Iy x-6yx-y= = -»

W) 8a+4= R

4 (¢) P=ab

(v) 8a=+2a= : A

() %y #x= = ()x()

) 3x+6= ()

() 8abe+12b= =

1Exer¢is«;:’8 - Answers : : |
onlam  Bx  9ued gy |92 W4 Wy D3

- e)‘4a-i-3b H-5p  @-7d h) 3k-2n g?gac
13215042 §) 8x™48x k) 2ab2b° Dax-8% | . g -
m) ab D 14pq o) 18 p-16p || DB DS 938 9
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